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QUESTION 1

Which of the following VMware backup network configurations doesn\\'t fit for backing up data to tape directly (don\\'t
consider FC virtualization)? 

A. Both VSA and MA are installed on VMs. 

B. VSA, MA and ISE are installed on physical machines. 

C. VSA is installed on VM, and the MA is installed on the physical machine. 

D. Both VSA and MA are installed on physical machine. 

Correct Answer: A 

 

QUESTION 2

In a customer environment with SuSE 10SP3, HBA QLogic QLE2562, using the operating system comes with HBA card
driver. The storage array is Huawei OceanStor V3 storage. When storing the FC host port on the system and the HBA
on the host. When the card port mode is inconsistent, it is usually recommended to modify the FC host port mode on the
storage side to solve the problem. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

In a A VTL6900-I system, the backup server connected to it is the Linux operating system. The backup server and the
VTL6900-I system are directly connected through the FC. The server identifies the device information as shown below.
After the backup server is configured as a backup client for the VTL6900-I system and the backup VTL system on the
server virtual library process, which the following operation and description is correct: (Multiple choice.) 

A. When configuring the backup client on the VTL side, you need to know that the WWPN of the FC port that connects
the VTL to the VTL is available on the server in the sys /class / fc_host directory and subdirectory to the corresponding
WWPN port. 

B. Server-side identification has been detected with the library device command is cat / proc / scsi / scsi. 

C. As shown in the figure, among the devices identified on the server side, the device labeled 1 is the scanned library. 

D. As shown in the figure, of the devices identified on the server side, the device labeled 2 is the information for the
scanned tape. 

Correct Answer: ABC 

 

QUESTION 4
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In the case of the Oceastor VIS6600T with dual switch redundancy networking, log in to the Windows machine
connected to the VIS6600T and configure the set of multi-path software Ultrapath control interface to see the number of
physical path than the planned network computing path less, the possibility of this phenomenon. What is the reason for
this? (Multiple choice.) 

A. Host to the optical switch connection is abnormal. 

B. When configuring the zone on the switch, configure the FC port and the host port that works in the working mode of
the VIS6600T as a target in one zone. 

C. The working mode of the VIS6600T is abnormal because the initiator\\'s FC port is connected to the optical switch. 

D. In the working mode of VIS 6600T, the connection between the FC port of the target device and the optical switch is
abnormal. 

Correct Answer: AD 

 

QUESTION 5

Engineers in strict accordance with the Oceanstor 9000 software installation and operation guide are to complete the
pre-inspection and configuration, the software deployment process displayed ome exceptions, the following treatment is
appropriate (multiple choice) 

A. For the "configuration operating system failed" error, check the node / var / log partition and clean up the partition,
initialize the system, and then re-run the software deploy 

B. If it is not a failure, restart the deployment after reinstalling the deploy deployment package 

C. After the deployment fails, run the sh /opt/huawei/deploy/script/clean.sh command on each node to initialize the
system and restart the software department 

D. After deployment abnormalities, reboot all nodes, reinstall oceanstor tookit, and start the software deployment 

Correct Answer: AC 

 

QUESTION 6

HPUX operating system Mirrordisk / UX software must be installed before it can be mirrored by LVM. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 7

Customers in the process of using Simpana software, CS for some reason can not start normally. You need to restore
the CS. Which of the following situations will cause the restoration to fail? 

A. The backup server and the ring server can not communicate properly 
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B. The link between the backup server and the media server is faulty 

C. Backup server SQL database failure 

D. DDB is abnormal 

Correct Answer: C 

 

QUESTION 8

A customer\\'s database application is running on an OceanStor V3 storage system. The database uses six LUNs. The
customer wants to migrate data from the OceanStor V3 storage system to an OceanStor 18000 series storage system
based on the functions provided at the storage side. Which statements are true? (Multiple Choice) 

A. If you use the HyperReplication function to migrate data on multiple LUNs used by the database, you must add
multiple remote replication tasks to one consistency group. 

B. The HyperReplication function can implement online data migration. 

C. After data is migrated using HyperCopy or HyperReplication, services can be started without the need to make any
configuration on the host. 

D. If data is migrated using HyperCopy, the migration speed can be dynamically changed during the copy process. 

Correct Answer: ACD 

 

QUESTION 9

Which of the following are false about OceanStor V3 LUN copy and clone: (multiple choice) 

A. LUN copies and clones have the data of the original volume at the moment when the original data is initiated (or
started) for the backup of the original data 

B. LUN copies and clones need to stop the host business during execution 

C. LUN copies and clones can both be executed in the same display 

D. Both LUN copies and clones can be incrementally synchronized 

Correct Answer: BD 

 

QUESTION 10

In a clustered environment, data is placed on the shared storage, and identities between peers are equal and have the
same access to the data. It is required that the clusterware have a control mechanism for concurrent access to such
peer permissions. In Oracle RAC, you use the _____ mechanism to do multiple node-to-node collisions control of
access. 

A. vip 

B. ocr 
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C. dlm 

D. asm 

Correct Answer: C 

 

QUESTION 11

Which of the following is true regarding a primary reason why a business would buy an N8500 (V200R001) cluster
system for database services. 

A. The business disk uses the SAS disk, RAID type configured as 11 disk RAID6 

B. The pre-fetching rate of the service LUn is set to "not prefetch" 

C. Slice depth of the business LUN, select "32K" 

D. Map the LUN to the host group of the N8000 instead of the host. The main LUN ID is configured by default, starting
from 0 

Correct Answer: BC 

 

QUESTION 12

The design of Oracle database system should give attention to both performance and data reliability. Which reliability
designs will reduce the performance of Oracle? (Multiple Choice) 

A. Multi mirror log group 

B. Using Oracle RAC 

C. Archive Mode 

D. Frequent CheckPoint 

Correct Answer: ACD 

 

QUESTION 13

VMware cluster HA technology uses the agent program on each virtualized physical host to communicate with the
vCenter server. If the communication is down, the vCenter will retry the communication and determine through
arbitration whether the host fails. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 14

In VMware virtualization environment, if the user wants to migrate a VM from one ESXi host to another with no
downtime, (_) can be used for this; if the user wants to migrate virtual machine storage disk files to another storage
array with no downtime, (_) can be used. 

A. vMotion, Storage DRS 

B. Storage vMotion, Storage DRS 

C. vMotion, HA 

D. vMotion, Storage vMotion 

Correct Answer: D 

 

QUESTION 15

True or False, with a client using the SMB 1.0 / 2.0 / 2.1 / 3.0 protocol to perform file replication inside a Huawei
OceanStor 9000, it does not need to pass through the client, but can be done directly to the system. 

A. True 

B. False 

Correct Answer: B 
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